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e Please check that this question paper contains 19 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

NSCIGRACEIC]

POLITICAL SCIENCE

giRa a7 - 3 o2 S7feHaT 37% : 100
Time allowed : 3 hours Maximum Marks : 100

59/4/3 1 P.T.0.



oD

<

Q=T 3397 :

G) @Yt ye7 A § | 39 F97-97 § HoT 27 I97 & | ¥-u7 gid @vs] 7
fayrfsra & |

(i) @U8 I § Jo7 G&IT 1 -5 % J9% Y97 Uk 3b & & | Id% J97 & I
20 52 & 371 787 &1 FET |

(iii) @UE § § Y97 G&IT 6 — 10 7% Ycd% Y97 @ 3] &1 & | IIH J97 HT IH
40 Jisz] & 371er% 787 F97 T0ET |

(iv) @UE T H J97 G&I7 11 - 16 TF 9% Y97 TR 3] H7 & | IIF J97 HT ITH
100 gl @ 3718 787 547 FIieT |

() @UE 7 H Y &I 17 - 21 % IF J97 Giel 3ih] #7 & | I J97 HT TH
150 &5t @ 37feres 757 &1 FIfT |

(i) @Y T § Y97 §&I 21 HHEGT W SYIRTG I & | 59 I 39T
FTH-GiEdhT 4 1e7/ET |

(vii) @Y€ T § Y97 &7 22 - 27 TF 9% Jo7 B: bl H1 & | Jodb Y97 HT I

150 7531 @ 3718 757 1 T30 |

General Instructions :

(1) All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

(it)  Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

(iti) Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

(iv)  Section C contains Questions number 11— 16 of four marks each. The
answers to these questions should not exceed 100 words each.

(v)  Section D contains Questions number 17 - 21 of five marks each. The
answers to these questions should not exceed 150 words each.

(vi) In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

(vii) Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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Qug A
SECTION A
1. Te-fuear fohe yohR qewerar @ faa g 2 1

How does non-alignment differ from neutrality ?

2. “9ud USHifd § Td-9¢d hl TAT hl g I) TR UH =1 W <hl fifd & w9

T o<k ToRam STaT 2 |7 39 h9F ol <ATHIEd 38Uy | 1

“The practice of defection in Indian politics is many a times expressed as
the policy of — ‘Aya Ram Gaya Ram’.” Justify the statement.

3. 1989 H H=fid 3| =T hl UgAN HIY &k SR ‘GE g &1 9dq q
M g ! | g | 1
AUAT
ot fawa Ig & o1a °, ekt &l Biga Aifaa g9 i referasen Iy fava
I o § el Afeeh fasfia oft | forelt T 3grewr g 5| e Wi ymIivTg
HIT | 1
Identify the event that took place in 1989 which led to the collapse of the
‘Second World’ and the end of the Cold War.
OR

The Soviet economy was more developed than the rest of the world except
for the US after the end of the Second World War. Substantiate the

statement with any one example.

4, 1970 & Tk # fova o fafie qoert sgRi & o= a9 TRl @ et
WSS 1 35T HH BT ? 1
What aroused a sense of common concern among the indigenous

communities of the world during the 1970s ?

5. 3fd g F Ty &% o1g URd — 9 FEYl ¥ gEaqul seare T | UE feRet

Teh 9CATd hl Uga i | 1
Jrora

forea &1 @ gum W=l A 9RR A A @ Wi SWR ¥ o W@ | 3§

i & e I SR o ? 1
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Since the end of the Cold War, there have been significant changes in
India — China relations. Identify any one such change.
OR

Britain’s former Prime Minister, Margaret Thatcher kept UK out of the
European market. Highlight the reason behind this decision.

Qs d
SECTION B

6. 1991 ® Tfcud 9 § B ol a%&dl-Uele bl TehE SeTaT faam i =i ? 1+1=2

Who encouraged the coup that took place in 1991 in the Soviet Union and

why ?
7. U fdl o wrepl 1 fagaiww KIS S aiferta™ o 999 o foT STRerRt 9 | 1x2=2
Jrera
“gifehea™ S99 T SIa NSt A T off, W 3k a4 H %3 fdehe
HieTgal Ia1 g3 |7 34 ¥ Tohgl g1 SiSATsal sl Tse HIWT | 1x2=2

Analyse any two factors that led to the creation of Pakistan.
OR

“The idea of Pakistan might have appeared simple, but its creation
presented many severe difficulties.” Elucidate any two of them.

8.  “tadd wRd Wl S+H S forehe uitfeufadi @ g1 17 fohdl Q1 3UYH dohl gl 39
o 1 gfee FHif | 1x2=2

HAAT

“area o wfgam fmfarent 3 gifvea e fob e aen weamr = aute 1
BT 1T A T hact $© T It &1 |7 39 S I degar TAMUq HH & fou

HI$ 3 SUFH b AT | 1x2=2
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“Free India was born in very difficult circumstances.” Justify the
statement with any two suitable arguments.
OR

“The Constitution framers of India ensured development and well being
of the entire society and not only of some sections.” Validate the
statement with any two suitable arguments.

9. T AH & TS TRl ol T ‘B’ H I8 gefeq fafemn @ faem il §><4=2
Ty A &Y B’
(a) fgdta fowa Ig i) 1990
(b)  FHod W ATHAT (i) 1992
(¢) Toor foeteq o1 usedfaea i) 1941
(d) 9o BREK (iv) 1945
AYAT
frafifaa gemeit % 3fa wu fuffa fif L g

(a) " SATRIH ST ShISH & AaTd GIh Usd I gHI éuohmedl:ahuuzl
(b) I, heaT IR R H ST G 9 SH 1 el JHT

(¢) dcs ¢S Tl & Iadl quT il Tradi W gHeAl

(d) U g FeId T IATHAT

Match the following events in Column ‘A’ with their corresponding dates

in Column ‘B’ :

Column ‘A’ Column ‘B’
(a) World War I1 (1) 1990
(b) Kuwait Invasion (1) 1992

(c) Presidency of Bill Clinton (iii) 1941
(d)  Pearl Harbour (iv) 1945

OR
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Find the correct sequence of the following events :

(a)  US invasion of Iraq under Operation Iraqi Freedom

(b)  Bombing of the US Embassies in Nairobi, Kenya and Tanzania

(c) Attack on North and South towers of the World Trade Organisation

(d) Iraq’s invasion on Kuwait

10. 1977 % T FHT FATEI hl ST UIET + TR o HI AT GU7 I &9
1 e ? 2
Why did the Janata Party make 1977 Lok Sabha Elections into a

referendum on Emergency ?

Qs 9
SECTION C

11.  “O3 T 99 § A1S! HHAT 8, Afh 386k o1 gHam 3R ot gz arft 17 38
FHYT Sl T HIT | 4

AT

TIH TS T WA IYcd o fadg dqed sHE WA | 3% Rl g ? T
I | 4

“The UN is an imperfect body but without it the world would be worse
off.” Explain the statement.

OR

Why can the UN not serve as a balance against the US dominance ?
Explain.

12. 8= 3w & ®9 § A0h a=Eg hi fohral IR faigarst =1 99 hifse | 4x1=4

Describe any four features of the U.S. hegemony as hard power.

13. P01 URRT o SR HEET <RIl o AW ANTNGhI o WARhad dae gisdehiul
! TS HIfNT | 4

Explain the viewpoint of ordinary citizens of most of the

member-countries of South Asia about democracy.
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14. 1967 o W JA@EI & qd, WA i 3Tieieh feafq 1 meped HifT | 4
HAYAT
1967 < 3T FAMEI I HUF Ul o [ Teh TSHIfdeh Yok FAT hgl T ?
fehegl T SHIUN T T&T T | Ix4=4
Assess the economic situation of India before the general elections of
1967.
OR

Why were the general elections of 1967 called as the political earthquake
for Congress ? Examine any four reasons.

15. ‘aier 21 qun fohre o’ i gnonst i wse fifse, e srod f@=n
g | == <kl TS off | 2+2=4

Explain ‘Agenda 21’ and ‘Sustainable development’ as discussed at the
Rio Summit.

16. U forl IR IO 1 Ioai@ shifole g4 Hemeifhai o fo o1 2o & a@

e SHMT AEeIH &1 e | Ixd=4
rerE

aRa 61 Te-Fuear it fifa 3 e @ alept @ AR T fgat i @ i 2

39 Hfifd 1 37T % ®is g sgr ot fafew | 2+2=4

State any four reasons for which the superpowers needed smaller states

as allies.
OR

Mention two ways in which Non-alignment policy of India served its
national interests. Also write any two basis on which this policy was

criticized.
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Qug T
SECTION D

17. = fu T Sad o erHgEs seH v o fmfafed g % 3w
o -
39 FAISIeH sl YOI IAUES & a-dH Tial & g8 off | 38 NS Toh Harl 2 |
i aral 4 o9 f9uTT 8 et T Tdl-aret & IR S H % T g6 3T % U
hTeA <l ATAM € ST | a9 faumT 3 Agafd ¢4 & SR e | s8t@, o
faum 9 wa-amft % e fafmtar & FHF &1 TE Zhe aaTis $EE %
e e s fean | 399 e ardl § U9 97 311 3R 36 TR 6 39 hHd
&1 fotiy fopam | 98 foiy o Siedt STEs & 31 gamenl | off %t TR | &
1 rfifeafasht it anfdfe o & &l o2 Fara 337 & |

G)  feu U srgduer § foRE SH 3TEied hl T=1 <l TS B ? 39 ITeiAd &

ITRET 9&F T o7 ?
(i) 39 SAGIeH | fopd arfeferfcehl qerm aTfefen TS 36 HET ol ISTAT 7T o 2
(iii) 39 ST Sl ITATCHIT Sl IR FHINT | 1+2+2=5

Read the passage given below carefully and answer the following
questions :

The movement began in two or three villages of Uttarakhand when the
forest department refused permission to the villagers to fell ash trees for
making agricultural tools. However, the forest department allotted the
same patch of land to a sports manufacturer for commercial use. This
enraged the villagers and they protested against the move of the
government. The struggle soon spread across many parts of the
Uttarakhand region. Larger issues of ecological and economic
exploitation of the region were raised.

1) Identify the popular movement which is being referred to in the
given passage. What was the novel aspect of this movement ?

(i1)  Which issues of ecological and economic exploitation were raised in
this movement ?

(iii) Highlight the achievements of this movement.

59/4/3 8



’EI%

IIEISF.- fa feu U A w1 erHgds AerE S iR frafafed g % 3
fafe .

BToAlfeh Avaiehol & foTT g Ush wRep Har T&f 3 TR oft shenfieh

Y MY § Th TUNER HRUT A1 3 & | T hig Weh gl [ SoATH,
AR IR ArEHiY & TdaR ATfasehrt 3 fava & fafdw v & 9 9=9r
61 wifd W fe@reh 3 | eI § 9« B (Ygu) H dhds e off @t 3en
[egaTg i AR W | 3E T S 8H Ig 31U L Tohd @ fob TNfrehl
T YT BN GieH o aiieh T YT | BH 319 s | {59 &7 @ di=d 8 3 &
amfEesh Sfed o IR H 8 a9t W gred § — TEnfeh! 1 38 9 STE 9e |

()  YrEnfiEhl 9 fopm T Sveiehtur i TR Y 6l ?

(i)  “ITIRU U TE-STATH FGURUN § |7 39 HUH hl =ATFETT 388y |

(iii)  Afverer 9T ST aTedl forgl a1 a1t o Iereu dfvu | 1+2+2=5
areraT

F= feu MU o w1 eHgds A i iR e Tl o I
faRau :

Jueffontu o IROMH g9 T H o3 B a9 ot 3Hehl TUC H BId & | BH W ©
GIA-91d-98d & 3TaT Ared @ — Hel W FHehT SR T Tl & | g6 SF s
1 AT TE< HEd @ o ad o VART o TR H T B & | SvRr
TEp(dh T9E1 H o@d §C 39 W Bl 9@ Wen @ 6 uw ulean fawa i
FERAAl Wl @A Tl | Jwe H A BT 8 Filh JTAIRUl HIEhide
THETAT o AT & | HEhidesh GH&IdT i Ig 279 81 foh fopell forva-awpia &1
329 B @l 2 | fava-gesla & 9m W oewe 9 fave Wl desfa @rd
ST & 8 | W] AERdeh Yol o $HS FhNIHS U8 Hi 7 |

(i)  ETEHdh THEUAT H FTER{dh AR fhe TR fid g 2 ¥98 ST |

(i)  “@fi-f Trgh Aftas yurEl ¥ gEM yHeAIEE ®1 AU Sedl & dl
Hl T8, TERETG Ghideh qodi ol Big foF1, TEpld H1 Iihr gral
2 17 39 %A & gHAA | HIE €4 grerd i | 2+3=5
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Read the passage given below carefully and answer the following

questions :

While globalization is not caused by any single factor, technology remains
a critical element. There is no doubt that the invention of the telegraph,
the telephone, and the microchip in more recent times has revolutionised
communication between different parts of the world. When printing
initially came into being it laid the basis for the creation of nationalism.
So also today, we should expect that technology will affect the way we
think of our personal but also our collective lives.
) How has technology aided globalization ?
(ii)  Globalization is a multi-dimensional concept. Justify the statement.
(iii) Give examples of any two events or happenings that have a global

impact.

OR

Read the passage given below carefully and answer the following
questions :
Globalization affects us in our home, in what we eat, drink, wear and
indeed in what we think. It shapes what we think are our preferences.
The cultural effect of globalization leads to the fear that this process
poses a threat to cultures in the world. It does so, because globalization
leads to the rise of a uniform culture or what is called cultural
homogenisation. The rise of a uniform culture is not the emergence of a
global culture. What we have in the name of a global culture is the
imposition of Western culture on the rest of the world. But there are
some positive aspects of cultural globalization as well.

) How is cultural homogenisation different from cultural
heterogenisation ? Explain.

(i)  “Sometimes external global influences simply enlarge our choices
or modify our culture without overwhelming the traditional
system.” Give three illustrations to prove the statement.

59/4/3 10
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19. = feu mu o w1 eHgde sterem hifvu i frafafea st % @ fafe

()  fean gam o, 1991 @ wrRa 6 fore ifa @ weife g 2
(i) SR fau 7u fom # <wis w2 Hifq & 7ew K == HiSy |
(iii) SR (T.UH.3.0.T4.) H YRd I gfieht 1 qedrehd hifr | 1+42+2=5

Study the picture given below carefully and answer the following questions :

(1) The given image refers to which policy of India since 1991 ?
(ii))  Explain the significance of this policy as shown in the image above.

(1i1) Evaluate India’s role in ASEAN.

11 P.T.O.
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Fie:  FHECTRET I97 FIT FIEFTAT GALieEl & 178, 97 &1 19 & T W& :

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 19 :

(19.1)  SNRIN (TL.UE.3.U.TH.) 1 faeqa 9 =1 2 ?

(19.2)  STREM (TLUE.3.0.UH) § 9Ra <l YfFehT S Jedieh hIfT |

(19.3) A MY Sear A TH h e da s am I #=n v 2 1+2+42=5
(19.1) What is the full form of ASEAN ?

(19.2) Evaluate India’s role in ASEAN.
(19.3) What did the Chinese do to break from their economic stagnation ?

20. = U MU TRV FH AFYER JLE Hiv R e g % IW
fafau
ATITARTA WA TSI T Faifeh {aameeag Yoo 8 | 396 Uh
HRUT § AT <l VU hl FELA 1 Rt [ gfEShIvn 1 BT | g8U
T I8 7 T THR 7 Gfaam Tea feeprl o1 AT i SATagIieh dil T
ATk hIHeRTS ol 30 L feaT o7 | AUTIhRIA o &1 M@ ST 3 379
= W 9 foh 39 ofafy H wgd @ Al g% | 36k SANTh, WRA H Alehad
W IMA & (IR T AThd & -0 Heeh Y@ S Tohd &, 39 W off
ITAT-3Te T frerdt 2 |
(i) 379 39 qT | Hal d HUd & foh TLHR 7 AlhdIh i i off aredd
4 facrford o foam o | 1 U 3gET0T o 31U IT 1 Tmeda Hifr |
(i) YRd H SAlhdd ol ST T o T8 § TERH UIdhIA & fehal al
I3 ! IATR I | 3+2=5
JAAgAT

= ST T TN T AHYEH JEIIH hivg R F=fcafgd Tt o IW
fefaw .
TIHT A 3T TeATSA & Aol o™ H SAYTdehld. shl =UM &L 41 |
25 S, 1975 % f¢7 TR F =iwon 1 foh g1 # oATafieh Tl HI AR 7
3T 39 Toh o T1Y 3T HGUH & 3eog 352 i AN L e | 38 =g &
Aqd gag™ fham T 2 T SEd Star IeEdl TewEl i AWl B W
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TR ATITAHRIA AT L Fhall g | TR 1 (01 o7 fop TR wehe 1 =t

M YLt 3 3N 3H a8 U SATITdehIdd shl HNNUT S0 Bl TS & | dehdlehl ®9 O

@ A THT AT GLHR 6l TRBAT & g | o, 99l AR AU T TLHR hl

aTaeRTe st fearfa # foey wieat wem i 8 2 |

() TR hI ¢ H IR hl T AN & AT a1e hd et THR
gehe 1 fageryor HifT |

(i)  ATITAeRIA sl HNUT B & A &1, TR I ITH B T foheal
gaures faerieri 6t vg=m v | 3+2=5

Read the passage given below carefully and answer the following

questions :

Emergency is one of the most controversial episodes in Indian
politics. One reason is that there are differing viewpoints about the need
to declare emergency. Another reason is that using the powers given by
the Constitution, the government practically suspended the democratic
functioning. As the investigations by the Shah Commission after the
Emergency found out, there were many ‘excesses’ committed during the
Emergency. Finally, there are varying assessments of what the lessons of
Emergency are for the practice of democracy in India.

(1) How far do you agree with the fact that during Emergency, the
government practically suspended the democratic functioning
also ? Give any one example to support your answer.

(ii)  Highlight any two lessons of Emergency which may be helpful for
the practice of democracy in India.
OR
Read the passage given below carefully and answer the following
questions :

In the light of these events, the response of the government was to
declare a state of Emergency. On 25 June, 1975, the government
declared that there was a threat of internal disturbances and therefore, it
invoked Article 352 of the Constitution. Under the provision of this
Article, the government could declare a state of Emergency on grounds of
external threat or a threat of internal disturbances. The government

59/4/3 13 P.T.0.



decided that a grave crisis had arisen which made the proclamation of a
state of Emergency necessary. Technically speaking, this was within the
powers of the government, for our Constitution provides for some special

powers to the government once an Emergency is declared.

1) Analyse the grave crisis that compelled the government to impose
a state of Emergency in the country.

(i1) Identify the two special constitutional powers which the

government gets once Emergency is proclaimed.

21. 9N % fou T Toifos W@rAEteE (98 16 W), H 499 TS R
@, ®, ©, D v ®gw e W | A & T TEEA F IR |
TS 1 g iV 3R I0 ST-GfEdesT O $eh @@l ™, T i TS
IR <hl ShA T a1 rf-ad e, i &) 718 drfeieh! o &9 d faRay :

TN <Rl T8 SR
1 -G

(i)

Trafegd 378% TSI &1 9H

(ii)

(iii)

(iv)

(v)

(i) 98 TSI & 1957 — 59 Th HIUF YT 1 IMEA &l o |

(i) 98 TS Sal IR foham Ifem, forami 1 ueh Teama &we of |

(i) o8 UST &1 TEAATE STareH TREY §a |

(iv) YT o He@ 991 TS |

(v) 98 USY &1 ¢fead 9o afsha o | Ix5=5
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In the given political outline map of India (on page 16), five States have
been marked as @), @), ©, ® and E). Identify these States on the
basis of the information given below and write their correct names in
your answer-book along with the respective serial number of the

information used and the concerned alphabet as per the following

format :
Sr. no. of the Concerned Name of the
information used Alphabet State

@)

(ii)

(iii)

(iv)

(v)

) The State where the Congress Party was not in power from
1957 — 59.

(ii)) The State where Bharatiya Kisan Union was a prominent

organization of farmers.
(111) The State where the Naxalite movement started.
(iv)  The youngest State of India.

v) The State where the Dalit Panthers were active.
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34 4.

21 & foTu

For question no. 21

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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Fig:  FAElCRgd 3T @ac giRanEa ghandat & o, ye e 21 & &9
wE:

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) 39 TST 1 9 TARGT & 1957 — 59 ek, HiIF Il ol IMEF T8 o |
(21.2) TorE TST # wRA foram Iiem frami shi T Teama g off ?

(21.3)  THECIETE G WA % ke U9 | TRY gaT ?

(21.4) YT % G908 AT (F1) TS SHH-AT 8 ?

(21.5)  gfeiad dud vra o forg U= A |fspa 9 2 I1x5=5

(21.1) Name the State where the Congress Party was not in power
from 1957 — 59.

(21.2) Bharatiya Kisan Union was a prominent organization of

farmers in which State ?
(21.3) In which State of India did the Naxalite Movement start ?
(21.4)  Which is the youngest State of India ?
(21.5) In which State of India were the Dalit Panthers active ?

g us q
SECTION E

22. WA WA o UvEN Wi W % Rl @ TH@ gRemmi i ISR

i | 2x3=6
SrerET

S gg A H o, Al (TH.UELSAL) It |9y qon el (W3.ALS.) %

3T AT Hawd <hl AT iU | 2x3=6

Highlight any three major consequences of ‘Shock Therapy in the
post-Communist regimes.

OR

Explain the formation and importance of NATO, Warsaw Pact and
SEATO during the Cold War period.
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23. 9Ra ® Fifa fase gq fobe @ yRiees st o fohegl <l 9itomdT w1 9o

hIfoTT | 2x3=6
e

WA gRT 3I9ATE T s sreleyesen Afsd & o= g foig # feu o

forgl i eht =1 ol hifSre | 2x3=6

Describe any three outcomes of early initiatives for planned development
in India.

OR
Elaborate any three arguments given by the critics against the mixed
model of economy adopted by India.

24. 1952 T WKL 3TN deh YA U HdeH & dcdd dliehl ol 9UH <hifoT | 6
areran

ad H o3t famddi o foo™ & ded 0, 7T TR & 9T i YHIfad
Tt 9 STdi Rl 9 <hifore | 38 foae@ bl Ufsham ot 3ffaw &9 o3 § fored
UfgTieh Mg oo 3T e 2 3+3=6

Describe the changing methods of voting in India from 1952 till today.
OR

Describe the three considerations that guided the interim government’s
approach towards merger of Princely States into India. Who played the
historic role in the finalization of this merger and how ?

25. SH] QAT HYHR hl TRV TS < AT TgHE 370 6 foheal o W@YH h
IR HIfVE | foem gt QU I o RO SHaT 6l Iaadl 8 et Tkl @

forveft wfafsramat =61 wdeqor ot il | 3+3=6
Srera

1980 % &k o 3ifad aut & gU W Rl fF weamsrE w1 fawewo i

TRt vRa i T W U (Feeeemht) gvme usn | 2x3=6
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Highlight any three provisions of Article 370 which provide a special
status to the State of Jammu and Kashmir. Also examine the two
opposite reactions provoked by this special status among the people.

OR
Analyse any three developments towards the end of 1980s that were to

make a long lasting impact on the politics of India.

26. TSI & THY HuIfdd Tuehleid @at & fued & fofu geammgers guen 6
JITIHAT Shi ST FHITTT AT Y FheAdT ITH i b foTC U AT | 2+4=6

HAYAT

qRA ! HIYH TS LT YNNG 1 TARM AT F1 ST A1, ? i I b
éli\ﬁq | 2x3=6

Explain the need for cooperative security as a necessity in dealing with
possible contemporary threats to the nations and suggest the methods to
achieve it.

OR

Why should India be made a permanent member of the U.N. Security
Council ? Give any three arguments.

27. THI-URMETE Thdl %l d &l of & [0U Saretad J8& gria fohU U 9ImEi <hl
wieqor HifST | 6

arra
< AR fqcm Il & R, wRa A B H ogmr wgEW H, 1962 % =
JTTSHHTT h T ST HeATeh i | 3+3=6

Examine the efforts taken by Jawaharlal Nehru for the promotion of
Afro-Asian Unity.

OR

Evaluate the impact of the Chinese invasion of 1962 in denting India’s
image at home and abroad, both.
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